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≈ 1− 0, 6328 = 0, 3672.

(c) E(X) = np =
5

4
= 1, 25, Var(X) = npq =

15

16
= 0, 9375.

(d) 1.

(B)

(a) P (1 pallina rossa) = 5 · 2
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≈ 0, 5357.

(b) P (2 palline rosse) =
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≈ 0, 3571.

(c) P (0 palline rosse) =
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≈ 0, 1071,

E(X) =
35

28
=
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4
= 1, 25, Var(X) =

55

28
− 25

16
=

45

112
=≈ 0, 4018.

(d) 1.

2. (a) P (D) = P (D|A) · P (A) + P (D|B) · P (B) + P (D|C) · P (C)
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= 0, 05.

(b) 1− P (C|D) = 1− P (C ∩D)

P (D)
= 1− 1

5
=

4

5
= 0, 8.

3. (a) (
35

36
)7 · 1

36
≈ 0, 0228.

(b) 1− (
35

36
)n > 0, 5, cioè n >

log 0, 5

log(35
36

)
≈ 24, 6.

4. (a)
2
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=
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= 0, 2.

(b) P (X2 <
1

4
) = P (X <

1

2
) = 0, 5.

(c) F (x) = P (X2 ≤ x) = P (X ≤ √
x) =





0 per x < 0,√
x per 0 ≤ x ≤ 1,

1 per x > 1.

f(x) =
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
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1
2
√

x
per 0 ≤ x ≤ 1,

0 altrimenti.
.

(d) E(X2) =
∫ 1

0
x2 dx =

1

3
, Var(X2) =

∫ 1
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x4 dx− 1

9
=
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=
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.


